MATEMATIK (iNGILiZCE+TURKCE DILINDE) OGR. (GOOD)
Yarigma Sinavi

A A
1 Find the length of the line segment joining E 5 Findthe derivative of fit) = singfflt‘,l )
aints (0, 1) and (-2, -1]. !
i 0.1 I'r ] » A) 12 sin? Jlt] cos{d)
A) & + B) 12 cos, ()
B) 2.2 1 C) 12 sm (4t) sinf41)
C) 2.3 E D) B sin®{4t) cos(4t)
D) 4( i E) none ofthe above
E) 12 i
1
' T . Cdv
TTze implicit differentiation to find — 1
2 ‘Whatis the equation of the line through point cx
A2, -1 with slope m= 47 2+ =bxy
A) 4x-y-9=0 A) 2y—z
B) y=2u-5 T
C) dx+ y=7 Y
D) y=4x+9 B) 2y-x
E) dx+v+9=0 y2+2x
i C) zy+a*
y2—2x
3 . o
Find the Eerwatwe of D) 2}?—2;{2
F(x]l=.|-m1nudu yﬂ_zx
E
A) -inxn | ) none of the above
[xz—ljlnx i
]
C) 21 i Calculate the derivative of the given function
D) Dn}{ atthe point x=2.
2
E) none ofthe above F(x _(x +1)[x+1)
: ( )_ |:x2—3)
1
. A) -23
4
Compute the integral B) - 43
i 8) 23
I Cos xdx ) 76
3 E) none ofthe above
1
1
A) 15z :
B) J2/2 :
C) _Jzr2 !
D) -1/2 |
E) none ofthe above :
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A A

11 At whatvalues of t doesthe function
gt = 2tfft2+1] have extrerme values?

8 Find an equation of the line tangent ta the
e y= ¥ +1 atthe point where x=2.

A) v=-12%+15 A) absolute maximum at t=1,
B) v=12%x +15 absolute minimum  at t=-1,
C) y=-12%-15 no other local extrema.
D) y=12x-15 B) absolute maximum at t=2,
E) none of the above absolute minimum at t=0,
no other local extrema.
C) no absolute or local extrema
9 Integrate i D) absolute maximum at t=2,
! absolute minimum  at t=-2,
. : no ather local extrema.
Ixsm xdx E E) naone ofthe above
A) -ucosu+sinx+C :
B) xcosx+siny+C
C) -usin®+cosx+0C 12 Express the rational number 3/11 as a
D) -xcosx-sihx+C repeating decimal. Use a bar to indicate
E) naone of the above the repeating digits.
1
i A) 027
i B a0
10 Simplify the exprassion i C)) gig
logs ~125 —Logy 5 | D) D.E?ﬁ
, .
A) 2 i\ E) none ofthe above
B) 1
C) 5
1
D) 25 113 Given 7 = f(x, y) = Xy - e,
E) Mone of the above. ! ay
find =
v
LOA) E e
v B) oty o we™
v C) iy - eV
1 D) - we
i E) none of the above
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A A
14 Calculate the third derivative of fix) = sin® x. E 18 Evaluate the expression
o lome(3%) - In (7
A) -4 sinx !
B) -4 sin(2x) L A) 3
C) -2 cos(Zw) ' B) 4
D) -2 sin(2x) ' C) 2
E) none ofthe above i D) i
' E) none of the above
1
15 Ewvaluate

) —Ax*+7x
lim

P P

19

Find the area of the finite region bounded
by the graphs of the functions
fi)) = % and gix) =7

A) 1 A) 1/2 square units
B) o B) 1/6 square units
C) C) 1/4 square units
D) —co D) 1/3 square units
E) nane ofthe ahave E) none ofthe ahove
16 Find the best linear approximation to the function 20 Find the volume of a solid generated when the

plx) = % +3x at the point 2, -2

region under the curve ¥ = sin % and above the
w-axis from x =0to x =17, is rotated about the

A) L= -15 9}{ - axis.

B) Lixi=

C) Lf}{]—M B}{ A) 4 cubic units

D) Lixi=9x-20 B) /3 cubic units

E) none ofthe above C) B cubic units
+ D) ™2 cubic units
' E) none of the above

17 Farwhatvalue of the constant C is :

210 if x24 21 Find the point{s) on the curve 3,r=}{2 such
_fl':x)={ i that the tangent lines to the curve at those
¢ i x=4 points pass through (2,-127.
continuous everywherae? A) (B,36) and (2, 4]

B) {-B,36) and (-2, 4)
A) B C) (5, B)and [-2,4)
B) 12 D) (6,36) and (-2, 4]
C) s E) none ofthe above
D) 4
E) none ofthe above
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A A
22 For whatvalues of m isthe line 3x+my =8 525 Evaluate

perpendicular to the line Bx +y =27 E ”.I'R(x?+ﬂ]d{}
A) m=-12 ' where R isthe rectangular box
B) m=18 : O=x<l, 1=y=2, 1=2z=2
C) m=-1B ;
D) m=-18 v A) 218
E) none ofthe above r B) 3142

C) 318

D) 3342

t E) none ofthe above

23 Find the absalute maximum and absolute
minimutn values of the function

F=2 (16, 1=x =4

|
i25 Evaluate
A) rnaximum 20, minimum 12 |
B) maximurm 20, minimum 17 E i NG
C) rnaxiraurn 20, minirurm 16 ! PR 21
D) maximurm 24, minimum 17 }
E) none ofthe above i
i A) 12
B) 32
24 If f is one-to-cne, and C) 23
, D) 113
If fl1)=3. fl2]=4. fl3)=23. E) none ofthe above

fl4) =8, and f[5] =20, !

find f'l(f'l(f'I(EDj:l) 27 Evaluate
lig
A) 2 s ST
B) 1
C) & A) w
D) z B) 0
E) MNone of the above C) —to
D)1
E) none of the above
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A A

32 ‘What is the equation of the line through points
F-127 and P27

28 Find allinflection points of the graph of
fix) = 3¢ — &+ 13x.

A) (0,0)and 1,11 A) 2y-x=45
B) {-1,-21yand (111) B) x+y =
C) (1,111 only C) y=u%+1
D) 0,0y only D) x-y+3=0
E) none ofthe above E) y=1x-1

33 Find an equation of the line tangent to the curve
8
vy = (X2—3)
at the point (2,17.

29 Find the limit of the sequence

]

A) 2 A) 32%-y-63=0
B) 1 B) 32u+y-B5=0
C)o C) 32 y+x-34=0
D) 3 D) 32 y-x-30=0
E) none of the abave E) none of the abave

34 Alarge number of tosses of a biased coin
shows that the probability of its landing heads
is 0.55 andthe probability of its landing tails
is0.45. You are offered a chance to play a
garne inwhich you toss the coin and win $10

30 ‘What values of x satisfy the following inequality?

3 &
_.c:_
1-x 1+=x

A) no values of x
B

) ez {l if it comes up heads and §15 i it comes up tails.
11 How much should you be prepared to payto play
C) 1 this garme if you want the prabahbility that you
Lexs ﬁ or x>l will not lose money to be at least 0.57
D) ‘wl_l A) §$1225
E) X< B) $12.15
C) $1235
D) %1250
31 If sin x=U, express sin(3x) in termsof U. E) none of the abave
A) -3U +4L°
B) 3U +41°
C) 4uU-31°
D) 3u-4u°
E) nane ofthe ahave
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A

35 Find the roots of the polynomial

© —8x° +16x

Give the multiplicity of each.

A) Raoots are; O with multiplicity 1, and
2 with multiplicity 4.

O w

Foots are; O (rmultiplicity 17,

2 (multiplicity 27, and

-2 (multiplicity 2.

D) Roatsare O, 2, 2, 2i, -2i, each wih
multiplicity 1

E) none of the abave

36 Salve the logarithmic equation

2log,(+/x)—log,(6x—11=0.

37 Find the line that passes through the point
(0,17 and through the point of intersection
of the two lines;
x+2y =5 and Z2x +y=4.

A) 1
¥= 2x+1
y=x+l1
Ay=x+3
y=1-x

mo O W

hone of the above

Rootz are 2 and -2, each with multiplicity 2

38

39

40

41

A

Find the second derivative of the function

fis) = 3 sin(2%) |

A) By sin(2¥ +12 ¥° cos(2x) +4 ¥ sin(2x)
B) By sin2x) +12 ¥° cos(2x) — 4 % sin(2x)
C) -Bxsin(2d +12 ¥ cos(2x) +4 3 sin(2x
D) -Bxsin2x +8 ¥ cos(2x) — 4 ¥ sin(21)
E) none of the abave

Evaluate

PR

A) 3/2.3
B) 1/2.43
C) —1/22
D) 1/3.f2
E)

none of the above

Evaluate

.[3 x ax

! Jzﬁ—x?

1443
145
11&
13
none of the above

moo o>

Find two nonnegative numbers, whose sum
is9, such that the sum of one number and

the sguare of the other number is & maximuam.

Woand 1752

A)
B)
C) Dand9
D)
E) none ofthe above
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A A

42 Find the points on the curve y=x" —6x® + 4 45 Evaluate

where the tangent line is horizantal.

A (0.4),(3.-5) and [—3,-5)

: _ Ifx
}1_1}1D1+ (1-3x)

B) (J3,-5] and (3,5 g; -1|n;33
C) (0,4),(—\5,5) and (ﬁ,—ﬁ) C) e?
D) .
) (04, (\E’_j) and (_"'@’_5) E) nanne of the above

E) none ofthe above

46 Evaluate
43 Evaluate ]
] lim xlnx
11_:% - x—0*
X
1+ x A) @
A) 0 B) 1
B) -1 C)n
C) 1 D) —
D) o E) none of the above
E) none ofthe above
I
47 Evaluate the integral
44 Evaluate the integral
3
. I dx
Iu |x—1| dx xlnx
A) 7 A) In(Bllnxy+C
B) 5 B) 31n|1nx|+C’
C) 4 c
D) )1n|1nx|+C
E) none ofthe above D) 3 L
(o x)*
E) none ofthe above
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48 Evaluate the integral

x
1 ax
A) 2x—ln|x+1|+C
B) x+In |x—1 |+C
C) 2x+Hun|r+1 |+
D) x—1In |x+1 |+C'
E)

none of the above

49 Evaluate the integral
2

Ao
r+1

A) %xg+x+1n|x+l|+if

B) %xg—x+1n|x+l|+c

) %xg—x—ln |x+1|+i:"

D) %xg—x+1n |x+1|+i:"

E) none of the above

50 Find an equation for the line through P(2 ,3)
that is perpendicular to the line 3x— y=47
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